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L) ! Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
7,886 x 10 = 5,342 x 1000 =
8,308 x 1000 = 2,728 x 10 =
5,767 x 1000 = 6,316 x 1000 =
2,106 x 1000 = 10,263 x 10 =
5,166 x 1000 = 3,418 x 100 =
6,621 x 10 = 10, 932 x 1000 =
2,494 x 10 = 1,211 x 10 =
8,598 x 100 = 5,499 x 10 =
7,642 x 1000 = 10, 648 x 1000 =
3,197 x 10 = 2,324 % 100 =
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g ! Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
7,886 x 10 = 78.86 5,342 x 1000 = 5342
8,308 x 1000 = 8308 2,728 x 10 =27.28
5,767 x 1000 = 5767 6,316 x 1000 = 6316
2,106 x 1000 = 2106 10,263 x 10 = 102.63
5,166 x 1000 = 5166 3,418 x 100 = 341.8
6,621 x 10 = 66.21 10,932 x 1000 = 10932
2,494 x 10 = 24.94 1,211 x 10 =12.11
8,598 x 100 = 859.8 5,499 x 10 = 54.99
7,642 x 1000 = 7642 10, 648 x 1000 = 10648
3,197 x 10 =31.97 2,324 x 100 = 232.4
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